## Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in Assam, as per following details:

			-											
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	(in M.)/A	Sq. M.). '	e site	arrano the ap	e to be ged by plicant	Mode of Selectio n	Fixed Fee / Minimum Bid amount (Rs. In Lakhs)	Security Deposit (Rs. In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC	CC / DC /								
					50	CFS	1							
					SC CC-1		4							
					SC CC-2		4			Estima	Estimat			
					SC PH		4			ted	ed			
					ST CT CC 1					workin	fund			
					ST CC-1					g	require			
					ST CC-2 ST PH					capital	-	Draw of		
			Regular /	MS+HSD in	OBC		Frontage	Depth	Area	requir	develo	Lots /		
			Rural	Kls	OBC CC-1		**	**	7.1.64	ement		Bidding		
					OBC CC-2					for	of	bluung		
					OBC PH						infrastr			
					OPEN		1			ion of	ucture			
					OPEN CC-		1							
					1					RO	at RO			
					OPEN CC-									
					2									
					OPEN PH									
1	WITHIN 1 KM FROM RUPKALIA CHARIALI (NEXT TO GAJALA SATRA L P SCHOOL) ON GOLAGHAT - JAMUGURI ROAD	GOLAGHAT	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
2	KAMALPUR-SILIKHAGURI ROAD, WITHIN 2 KM OF DULIAPATHAR POST OFFICE TOWARDS SILIKHAGURI	LAKHIMPUR	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
3	Balipukhuri-Dipoota Road (Within 2 km from Balipukhuri Tiniali towards Dipoota)	SONITPUR	RURAL	52	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
4	NHPC GERUKAMUKH- GOGAMUKH ROAD WITHIN 6 KM FROM GOGAMUKH CHARIALI TOWARDS GERUKAMUKH	DHEMAJI	RURAL	55	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
5	Dolabari Kalibari Road(Between Dolabari Chariali and Gopinath Bordoloi Medical institute)	SONITPUR	RURAL	200	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
6	Bordoloni- Hator Khula Road (Between NH15 intersection at Bordoloni and Kumotiya River Bridge)	DHEMAJI	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
7	From Khanikar Chariali (on Dibrugarh Bypass) to Jokai Village NOT ON NH OR SH	DIBRUGARH	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
8	BALIJAN TO DATHKOLA (WITHIN 3 KM OF NH15 INTERSECTION WITH BALIJAN DATHKOLA ROAD)	BISWANATH	RURAL	46	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
9	GERUABARI TO MIJIKA (WITHIN 2 KM OF GERUABARI POST OFFICE)	BISWANATH	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
10	DHALPUR-GANAKDOLONI ROAD (Within 3km of NH INTERSECTION AT DHALPUR TOWARDS GANAKDOLONI)	LAKHIMPUR	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
11	On Krishnai-Mendipathar Road (Between Puthimari High School and NH17 intersection)	GOALPARA	RURAL	45	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
12	On Kakaya Road within 2 kms from Kakaya Durga Mandir Salona-Anjukpani Road,Within	NALBARI	RURAL	35	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
13	3 km from junction of SH17 with Salona-Anjukpani Road towards Anjukpani	NAGAON	RURAL	53	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
14	Meleng Grant Gaon (From Radha Krishna Mandir to Kukurachowa Gaon)	JORHAT	RURAL	70	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
15	Padmabil on Gossaigaon - Tamarhat Road Salbari (within 1 km from	KOKRAJHAR	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
16	Salbari Post Office towards Sarupeta on LHS) NOT ON NH / SH	BASKA	RURAL	84	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
17	Siajuli Road (Within 2 km from intersection of NH15 with Siajuli road towards Siajuli Train station)	LAKHIMPUR	RURAL	65	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
18	Within 2km radius from Mairajhar Gaon Fozorkhar Chariali towards Bahbari	BASKA	RURAL	42	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

									1		1			
19	Barbala (within 3 kms on either side of Assam Gramin Vikas Bank Service Point)	BARPETA	RURAL	35	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
20	Sirajuli Borsala Road(Within 3 km from intersection of NH15 at Sirajuli towards Borsala)	SONITPUR	RURAL	57	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
21	Lakhipathar to Moridhal (Within 3 km from railway intersection at Moridhal towards Lakhipathar)	DHEMAJI	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
22	On Hallidayganj-Mankachar- Purakasia-Tura Road (within 2km of intersection of MDR-2 and Moishaldanga)	SOUTH SALMARA MANKACHAR	RURAL	45	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
23	FROM RONGDOI CHARIALI POST OFFICE TO LAHDOIGARH POLICE OUTPOST ALONG LAHDOIGARH ROAD)	JORHAT	RURAL	65	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
24	ON DINJAN-PANITOLA ROAD IN TINSUKIA DISTRICT	TINSUKIA	RURAL	55	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
25	Udalguri-Bhairabkunda Road,Within 4 km from SBI Kahibari towards Bhairabkunda	UDALGURI	RURAL	66	ST CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
26	Sapatgram within 3 kms from Railway crossing on Gossaigaon- Sapatgram Road	DHUBRI	RURAL	45	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
27	Baihata Chariali to Muktapur on	KAMRUP	RURAL	80	OPEN	СС	30	25	750	12	5	Bidding	10	4
28	Baihata - Goreswar Road On Barpeta-Mandia Road (Between Syndicate Bank and	BARPETA	RURAL	42	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
29	Barpeta District Jail) Within 2 km from M/S Wahida KSK IOC Retail Outlet at Kalgachia towards Sorbhog on Kalgachia-Sorbhog Road	BARPETA	RURAL	100	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
30	On Tihu-Haribhanga Road (within 500m from Haribhanga High School Playground towards Tihu)	NALBARI	RURAL	35	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
31	Dhanuhar Basti between Dhanuhar Basti Jame Masjid and Jorapukhuri on LHS towards Jorapukhuri	HOJAI	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
32	On Salbari-Jogighopa Road (between NH17 intersection and Balapara Post Office)	BONGAIGAO N	RURAL	55	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
33	GOROIMARI NOT ON SH (On Goroimari-Kalatoli Road)	KAMRUP	RURAL	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
34	Village 288/313 no. Grant (within 2km From Disangpani Bridge on RHS towards Suffry)	CHARAIDEO	RURAL	65	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
35	Within 2 KM from Moirabari Gaon Panchayat Office on Moirabari- Morigaon Rd. towards Morigaon	MORIGAON	RURAL	45	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
36	GELEKEY (FROM INDIAN OIL PETROL PUMP M/S SHIVAM SERVICE STATION TO NA-ALI MASJID)	SIBSAGAR	RURAL	65	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
37	WITHIN 2KM FROM BALIGAON MAJOR MASJID ON JB ROAD TOWARDS RAJAHOWLI NAAMGHAR	JORHAT	RURAL	65	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
38	Silghat-Noltoli Road (Within 3 km from NH715 intersection at Naltoli towards Silghat)	NAGAON	RURAL	36	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
39	Within 4km radius of bahona college along charigaon nimati road	JORHAT	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
40	Gelabil (from Gelabil Chariali to Doyang Bridge along Ghanashyam Baruah Road)	GOLAGHAT	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
41	Kachumari (Within 1.5 Km from Kachumari High & ME School on both sides along Moran- Sonari Road)	CHARAIDEO	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
42	ALENGMORA GAON (WITHIN 2KM FROM KHUTIA PUTA CHARALI TOWARDS NH37(OLD))	JORHAT	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
43	MORIKOLONG (WITHIN 1KM FROM HPCL PETROL PUMP, STAR HP NAGAON TOWARDS BORGHAT CHOWK	NAGAON	RURAL	160	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
44	ON RHS) Kumarpara ( Within 2 km of Kumarpara LP School on Mangaldai-Deomornoi Road)	DARRANG	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
45	Within 2km radius of Moran- Sonari Rd. and Disangpani- Rajgarh rd. Intersection at Dadhora Cheleng	CHARAIDEO	RURAL	55	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

							-				-			<u>.</u>
46	WITHIN 4 KMS OF NEW CINNAMORA MASJID ON CINNAMORA -TITABOR ROAD TOWARDS TITABOR	JORHAT	RURAL	55	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
47	On Kajolgaon-Dangtol Road (between intersection of NH-27 and Basugaon-Kamardanga- Kakaragaon-Dangtol Road)	BONGAIGAO N	RURAL	150	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
48	Dhuliapar ( Within 1.5 kms from Rangghar Chariali on Duboroni Ali Road )	SIBSAGAR	RURAL	55	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
49	SADIYA -FROM CHANGCHUP PS TO SUNPURA HIGH SCHOOL (NOT ON NH or SH)	TINSUKIA	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
50	CHABUA TO TENGAKHAT (ALONG CHABUA-TENGAKHAT ROAD)	DIBRUGARH	RURAL	55	OBC PH	DC	30	25	750	12	30	Draw of Lots	5	3
51	Bhojo(NOT ON NH OR SH) (within 3 km radius of Bhojo Railway Station)	CHARAIDEO	RURAL	55	ST PH	CFS	30	25	750	0	0	Draw of Lots	0	2
52	Nilambazar not on NH or SH (On Kalibari Road)	KARIMGANJ	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
53	Raha (WITHIN 5 KM FROM RAHA CHARIALI ON RAHA- MORIGAON ROAD OUTSIDE RAHA TOWN COMMITTEE)	NAGAON	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
54	Under Juria Pukhri Village along	DIBRUGARH	RURAL	52	OBC	DC	30	25	750	12	30	Draw of	5	3
55	Tingkhong-Namrup Road Tarkata (Not on NH or SH)	HOJAI	RURAL	85	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
	Mazbat Orang Road (Within											Lots Draw of	-	
56	3km of Mazbat railway intersection) Borpukhuri Village on Hojai	UDALGURI	RURAL	85	ST	CFS	30	25	750	0	0	Lots	0	2
57	town to Jugijan Road (not on NH/SH) Orang Post Office to Dhansiri		RURAL	50	OPEN	DC	30	25	750	12	30	Draw of Lots Draw of	5	4
58	Bazar Post office	UDALGURI	RURAL	57	OBC	DC	30	25	750	12	30	Lots	5	3
59	Khonamukh- Debendranagar Road, within 5km from Khanamukh Post office towards Debendranagar	SONITPUR	RURAL	102	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
60	Thelamara to Missamari (Between 5 kms to 10 kms of Thelamara Post Office towards Missamari )	SONITPUR	RURAL	56	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
61	WITHIN 3KM OF TINGRAI CHARIALI TOWARDS DULIAJAN ALONG DULIAJAN-DIBRUGARH ROAD NOT ON SH	DIBRUGARH	RURAL	70	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
62	Sewaguri (From Sewaguri Tiniali to Sarupathar Fire Station on Barpathar- Sarupathar Road)	GOLAGHAT	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
63	Chekonidhara (Not on SH)	JORHAT	RURAL	50	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
64	WITHIN 2KM FROM JUMMA MASJID GARALI TOWARDS MACKEYPORE ALONG JOYSAGAR-NAZIRA-ATHKHEL ROAD	SIBSAGAR	RURAL	70	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
65	On Rajakhat-Barsimla Road within 1 kms from Barsimla Shiv Mandir	BARPETA	RURAL	35	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
66	Boichagarumaria on DK Road	LAKHIMPUR	RURAL	49	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
67	Dhekiajuli- Singri Road (Between 3KM to 8KM from NH 15 intersection)	SONITPUR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
68	WITHIN 3KM OF CHARAIMURIA POST OFFICE (B.O) TOWARDS JOYSAGAR ALONG JOYSAGAR- NAMTI CHARIALI RD	SIBSAGAR	RURAL	35	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
69	Tupia-Rangachakuwa Road (Within 3 km from NH15 intersection with Tupia towards Rangachakuwa)	SONITPUR	RURAL	50	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
70	Matia (not on NH or SH) On Tamulpur-Ghograpar Road	GOALPARA	RURAL	55	OPEN	CC	30	25	750	12	5	Bidding	10	4
71	within 1.5 km from NH27 intersection	NALBARI	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
72	BETWEEN 6 KMS TO 10 KMS FROM NH17 JUNCTION AT RANGJULI ON RANGJULI - SIMILITOLA ROAD	GOALPARA	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
73	Along Doomdooma - Tingrai Road (Not on NH)	TINSUKIA	RURAL	75	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
74	Within 3 kms of Gutipara Bazar	DHUBRI	RURAL	35	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
75	Chatibor Gaon (On Chilaray Road) within 2kms of Jagadhatri Mandir	CHIRANG	RURAL	50	OPEN PH	DC	30	25	750	12	30	Draw of Lots	5	4

					1			-		1				
76	FROM DEMOW CHARIALI TO ATHABARI MOSQUE ALONG DEMOW ATHABARI ROAD	SIBSAGAR	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
77	Hekra WITHIN 2 KMS FROM Hekra High School Play Ground on Dhupdhara - Nagarbera Road	KAMRUP	RURAL	60	OPEN	сс	30	25	750	12	5	Bidding	10	4
78	On Patiladaha Hwy within 5 kms from NH17 intersection	BONGAIGAO N	RURAL	80	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
79	FROM ASSAM GRAMIN VIKASH BANK LENGERI BRANCH TO CHAKALIA GAON ALONG TINGKHONG RD	DIBRUGARH	RURAL	35	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
80	MADHAPUR (WITHIN 5KM OF LAXMAN BABA SHIV MANDIR TOWARDS BEKAJAN ON MADHAPUR ROAD)	JORHAT	RURAL	60	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
81	KAKOTIGAON TINIALI TO KOPILI RIVER BRIDGE (KAKOTIGAON MAGURGAON ROAD)	NAGAON	RURAL	95	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
82	Golaghat Bypass	GOLAGHAT	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
83	Margherita-Pengari Road (Within 1km from Alloobari Mazjid towards Margherita Town)	TINSUKIA	RURAL	55	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
84	Sootea-Itakhola Road (Within 3 km from NH15 intersection with Sootea-Itakhola Road towards Itakhola	BISWANATH	RURAL	54	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
85	From Dillai Kali Mandir to Langpi Dehangi Rural Bank <u>Branch at Hidipi (Not on NH)</u> Nahira (Shri Shri Lakshmi	KARBI ANGLONG	RURAL	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
86	Mandir to Futuri Mazpara Masjid)	KAMRUP	RURAL	45	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
87	Baithalangso (Not on NH or SH)	WEST KARBI ANGLONG	RURAL	40	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
88	Jamugurihat-Chakighat Road ( Within 3 km from NH15 intersection at Jamugurihat towards Chaki Ghat)	SONITPUR	RURAL	48	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
89	Within 3 km of Borka Bazar Chowk on Changsari Kamalpur Road	KAMRUP	RURAL	45	OPEN	сс	30	25	750	12	5	Bidding	10	4
90	Isabeel to Rangamati on Lowairpoa Rangamati Kanmun Road	KARIMGANJ	RURAL	55	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
91	Japia on Dimu Soneswar Road	KAMRUP	RURAL	35	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
92	Hmarkhawlien (Not on NH or SH)	CACHAR	RURAL	65	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
93	On Tilapara Dudhnath Temple Road (within 3 kms from NH intersection)	DHUBRI	RURAL	55	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
94	Within 2 km of Binnakandi Post Office on Sonai -Binnakandi - lakhipur Road towards Sonai	CACHAR	RURAL	40	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
95	Katlicherra not on NH	HAILAKANDI	RURAL	30	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
96	Tupamari Bazar Masjid to Sontoli Chariali	KAMRUP	RURAL	40	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
97	Katigorah not on NH	CACHAR	RURAL	43	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
98	Batarashi between Central Bank of India Girishganj Branch and UBI Bagarsangan on Lokkhi Bazar Road	KARIMGANJ	RURAL	45	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
99	Within 4km of Intersection of Nimati Road and NH715 towards Modarguri	JORHAT	RURAL	70	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
100	WITHIN 2KM FROM TIPAMFAKE BUDDHIST TEMPLE TOWARDS DULIAJAN ALONG NAMRUP- USHAPUR ROAD	DIBRUGARH	RURAL	50	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
101	Udalbheti Pathar (Not on SH/NH)	MORIGAON	RURAL	45	OPEN	СС	30	25	750	12	5	Bidding	10	4
102	UPTO 2KM FROM ASSAM GRAMIN VIKASH BANK,BADULIPARA BRANCH TOWARDS KHUMTAI ON CAPTAIN JINTU GOGOI PATH	GOLAGHAT	RURAL	45	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
103	Tezpur industrial area( within 1km from Ghoramari Maszid towards Dabur India Limited)	SONITPUR	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
104	Gossaigaon (not on NH or SH)	KOKRAJHAR	RURAL	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
105	Kacharibori Bazar to Borbori Chariali (intersection with SH 47)not on NH or SH	MORIGAON	RURAL	35	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
106	FROM CHABUA TO DIKOM ON NEW NH	DIBRUGARH	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5

	FROM KANAIGHAT TINIALI TO		REGULA		1				r		[	Draw of		
107	SOLMARI TINIALI ON NH129	GOLAGHAT	R	150	OBC	DC	35	35	1225	25	75	Lots	15	4
108	SAIKHOWA ON NH37(BETWEEN KM STONE 686 to 688 RHS FROM SAIKHOWA TO DHOLA)	TINSUKIA	REGULA R	185	ST	CFS	35	35	1225	0	о	Draw of Lots	0	3
109	DIBRUGARH BYPASS(LHS FROM BARBARUA TO BOKEL ALONG DIBRUGARH BYPASS)	DIBRUGARH	REGULA R	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
110	MOIDUMIA (WITHIN 3KM FROM JAMES WARREN CHARIALI TOWARDS DIKOM) ON NEW NH	DIBRUGARH	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
111	Sibsagar Town (along Old Amlapatty-ONGC Road)	SIBSAGAR	REGULA R	100	OBC	DC	17	17	527	25	45	Draw of Lots	15	4
112	DIBRUGARH BYPASS(RHS FROM BARBARUA TO BOKEL ALONG DIBRUGARH BYPASS)	DIBRUGARH	REGULA R	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
113	LEPETKATA TO BOGIBEEL BRIDGE ALONG NH15(FROM INTERSECTION IN FRONT OF BCPL TOWARDS BOGIBEEL BRIDGE)	DIBRUGARH	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
114	Within 5Km of Srikani LP School towards Rajgarh on NH52B	DIBRUGARH	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
115	Within 3 km on either side of Dhula Police Station on NH15	DARRANG	REGULA R	195	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
116	WITHIN 3KM FROM DERGAON CHARIALI TOWARDS JORHAT ALONG NH715	GOLAGHAT	REGULA R	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
117	FROM SBI BORPOOL BRANCH TO JORHAT KENDRIYA MAHAVIDYALA(JKM) ALONG AT ROAD	JORHAT	REGULA R	170	ST	CFS	17	17	527	0	0	Draw of Lots	0	3
118	NH15(WITHIN 5 KM OF GOGAMUKH CHARIALI TOWARDS NORTH LAKHIMPUR)IN DHEMAJI DISTRICT	DHEMAJI	REGULA R	200	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
119	NH15(WITHIN 3 km on either side of UCO Bank Bordoloni Tiniali Branch )	DHEMAJI	REGULA R	150	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
120	WITHIN 4KM FROM DERGAON CHARIALI TOWARDS NUMALIGARH TINIALI ALONG NH715	GOLAGHAT	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
121	JAPRALANGSO ALONG NH129 (WITHIN 5KM FROM LOKHIMON TEMPLE TOWARDS DIMAPUR)	KARBI ANGLONG	REGULA R	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
122	NH15(WITHIN 5 KM OF LALUK TINIALI TOWARDS GOHPUR)	LAKHIMPUR	REGULA R	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
123	SIBSAGAR BYPASS ON NH2(LHS FROM MARUTI SHOWROOM TILL INTERSECTION WITH AT ROAD NEAR DORIKA BRIDGE)	SIBSAGAR	REGULA R	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
124	JORHAT BYPASS ON NH715(RHS FROM JORHAT TO SIBSAGAR)	JORHAT	REGULA R	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
125	TINSUKIA-MAKUM BYPASS(ON LHS STARTING FROM DISTANCE OF 3KM FROM INTERSECTION AT LAIPULI)	TINSUKIA	REGULA R	170	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
126	NH127(WITHIN 4 Km on either side of Samaguri Police Station on RHS towards Guwahati)	NAGAON	REGULA R	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
127	LHS ON MORAN BYPASS TOWARDS SIBSAGAR DIRECTION (WITHIN DIBRUGARH DISTRICT)	DIBRUGARH	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
128	FROM BORHAPJAN TO DOOMDOOMA ALONG NH15	TINSUKIA	REGULA R	160	OPEN CC 2	DC	35	35	1225	25	75	Draw of Lots	15	5
129	FROM TEOK GHAT BRIDGE TO	CHARAIDEO	REGULA	150	OBC CC 1	DC	35	35	1225	25	75	Draw of	15	4
130	BENGENABARI HIGH SCHOOL LHS FROM JHANJI TO	SIBSAGAR	R REGULA	150	ST CC 1	CFS	35	45	1575	0	0	Lots Draw of	0	3
	GAURISAGAR ON NH2 Within 4km from IOC Petrol Pump M/s Margherita Auto		R REGULA								_	Lots Draw of		
131	Agency towards Digboi on RHS ON NH 315 WITHIN 4KM FROM RANGAJAN	TINSUKIA	R	150	OPEN	DC	35	35	1225	25	75	Lots	15	5
132	TINIALI TOWARDS DIMAPUR ON NH129 NH715 (WITHIN 3KM OF	GOLAGHAT	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
133	KALIABOR TINAILI ON LHS TOWARDS TEZPUR)	NAGAON	REGULA R	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
134	NH15(BETWEEN 5KM TO 10KM OF BPCL RETAIL OUTLET DIPAK FILLING STATION TOWARDS GOGAMUKH)	DHEMAJI	REGULA R	185	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

								-		-	_		-	
135	LEPETKATA ON NH2(RHS FROM BCPL TOWARDS MORAN WITHIN 5 KMS FROM BCPL)	DIBRUGARH	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
136	THOWRA ON NH2 (WITHIN 3KM LHS FROM ROJABARI ROAD INTERSECTION TOWARDS DIBRUGARH)	SIBSAGAR	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
137	Sorbhog between km stone 992 and 994 along NH-27(new)	BARPETA	REGULA R	195	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
138	FROM DOKMOKA BAZAAR TO HOWRAGHAT TINIALI ON NH29 (RHS IN THE DIRECTION FROM DOBOKA TO DIMAPUR)	KARBI ANGLONG	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
139	NH15(WITHIN 5 KM FROM BOGINADI POLICE STATION TOWARDS NORTH LAKHIMPUR)	LAKHIMPUR	REGULA R	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
140	WITHIN 2 KMS ALONG NH29 FROM JUNCTION OF NH29 AND NH329 AT MANZA	KARBI ANGLONG	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
141	FROM HOTEL HAMDOI,GOLAGHAT TO KAMARBANDHA ON SH1	GOLAGHAT	REGULA R	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
142	NH127(WITHIN 4 Km on either side of Samaguri Police Station on LHS towards Guwahati) TINGKHONG (WITHIN 2KM	NAGAON	REGULA R	150	OPEN CC 1	СС	35	45	1575	25	10	Bidding	30	5
143	FROM IOCL PETROL PUMP M/s SARMAH CHOWDHURY & CO TOWARDS RAJGARH ALONG SH27)	DIBRUGARH	REGULA R	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
144	From Chowkidingee Chariali to Kanikar chariali on Mancotta Road	DIBRUGARH	REGULA R	100	OBC	СС	17	17	527	25	10	Bidding	30	4
145	JAGUN(WITHIN 5KM FROM JAGUN BAZAAR TINIALI TOWARDS LEKHAPANI ALONG NH315)	TINSUKIA	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
146	WITHIN 10KM FROM SAPEKHATI CHARIALI TOWARDS RAJGARH ALONG NH52B	CHARAIDEO	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
147	ON SH13, Within 2 km from NH15 intersection at Kharupetia	UDALGURI	REGULA R	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
148	NH715 (WITHIN 3KM OF KALIABOR TINAILI ON RHS TOWARDS TEZPUR)	NAGAON	REGULA R	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
149	NAMTOLA ON SONARI-TIZIT ROAD (WITHIN 5KM FROM ASSAM-NAGALAND BORDER GATE TOWARDS SONARI)	CHARAIDEO	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
150	WITHIN 3KM RADIUS OF SUNPURA HABI GAON TOWARDS SIBSAGAR ALONG BG ROAD	SIBSAGAR	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
151	Rowta- Udalguri Road, Within 5 KM from Rowta Chariali towards Udalguri ON SH	UDALGURI	REGULA R	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
152	ON DOOMDOOMA MAKUM BYPASS ROAD (WITHIN 2KM FROM NAHORANI MAZDOOR GAON LP SCHOOL TOWARDS MAKUM)	TINSUKIA	REGULA R	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
153	From HPCL PETROL PUMP (M/S Kusum Oils) to Rangajan Tiniali	GOLAGHAT	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
154	LHS FROM KAMARGAON TO BADULIPARA ON NH 715	GOLAGHAT	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
155	On CR Avenue, between Chirukandi Jame Masjid and intersection of CR Avenue with Meherpur Road(SH 39)	CACHAR	REGULA R	125	ОВС РН	DC	17	17	527	25	45	Draw of Lots	15	4
156	Silapathar- Likabali Road, Within 3 Km from Silapathar Railway Intersection	DHEMAJI	REGULA R	165	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
157	LEFT HAND SIDE FROM TEOK TOWN POLICE STATION TO KAKOJAN HULUNGAPAR MASJID ON NH715	JORHAT	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
158	RIGHT HAND SIDE FROM MORAN TO DEMAW(WITHIN 3KM OF SATSANG KENDRA SEPON ALONG ON NH2)	CHARAIDEO	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
159	Biswanath Chariali- Biswanath Ghat Road (Within 2 km from Biswanath Chariali towards Biswanath Ghat)	BISWANATH	REGULA R	100	ОВС	DC	17	17	527	25	45	Draw of Lots	15	4
160	LEFT HAND SIDE FROM KAKODUNGA BRIDGE TO KAZIRANGA UNIVERSITY ON NH715	JORHAT	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

161	On LHS within 2km from	BONGAIGAO	REGULA	210	ST	CES	25	45	1575	0	0	Draw of	0	2
161	Chapaguri Chariali towards Guwahati on NH-27(new) FROM AT ROAD-BYPASS	N	R	210	51	CFS	35	45	1575	0	0	Lots	0	3
162	INTERSECTION AT KENDUGURI TO JAM-E-MASJID (MELENG) ALONG NH715	JORHAT	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
163	WITHIN 2KM FROM SBI NA ALI BRANCH TOWARDS TITABOR ON SH32	JORHAT	REGULA R	160	OBC	СС	35	35	1225	25	10	Bidding	30	4
164	Biswanath Chariali Bypass on RHS Towards Dhemaji on NH15	BISWANATH	REGULA R	168	OPEN	СС	35	45	1575	25	10	Bidding	30	5
165	Dudhnoi (Banabashi Mandir to Dudhnoi Police Station) on NH- 17(new) LHS from Guwahati	GOALPARA	REGULA R	175	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
166	Nalbari (between Ganesh Mandir chowk to Railway crossing) on Dhamdhama Road	NALBARI	REGULA R	110	OBC	DC	17	17	527	25	45	Draw of Lots	15	4
167	NH15(WITHIN 5 KM OF MISSION CHARIALI TOWARDS BALIPARA ON RIGHT HAND SIDE)	SONITPUR	REGULA R	155	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
168	Bokakhat Town (Not on NH within Town limit)	GOLAGHAT	REGULA R	100	OPEN CC 1	DC	17	17	527	25	45	Draw of Lots	15	5
169	within 2 kms of NH27 intersection towards Barpeta Road on SH6	BARPETA	REGULA R	135	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
170	LHS FROM JHANJI BRIDGE TO TEOK TOWN POLICE STATION ON NH715	JORHAT	REGULA R	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
171	On NH-27 between kilometer stone 983 and 985 LHS towards Guwahati	BARPETA	REGULA R	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
172	Gossaigaon Town on Dhubri- Kochugaon Road (within 1 km on either side of Dharamshala Bibah Bhawan)	KOKRAJHAR	REGULA R	110	OPEN	DC	17	17	527	25	45	Draw of Lots	15	5
173	Biswanath Chariali Town on NH15	BISWANATH	REGULA R	165	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
174	Sonari town( Within 3 km from IDBI Bank ,Sonari Branch along Sonari -Moran Road)	CHARAIDEO	REGULA R	100	ST	CFS	17	17	527	0	0	Draw of Lots	0	3
175	Within 7km from HPCL PETROL PUMP M/s ETERNAL FUEL AGENCY towards Dergaon on Dergaon-Golaghat Road	GOLAGHAT	REGULA R	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
176	DIPHU TOWN (NOT ON NH/SH)	KARBI ANGLONG	REGULA R	150	OPEN	DC	17	17	527	25	45	Draw of Lots	15	5
177	Tezpur on Majgaon Main road (Between Darrang college and intersection of Majgaon road with NT road)	SONITPUR	REGULA R	235	OPEN	DC	17	17	527	25	45	Draw of Lots	15	5
178	Char road, within Mangaldai Town Limits	DARRANG	REGULA R	154	OBC CC 1	DC	17	17	527	25	45	Draw of Lots	15	4
179	RHS ON MORAN BYPASS TOWARDS SIBSAGAR DIRECTION (WITHIN DIBRUGARH DISTRICT)	DIBRUGARH	REGULA R	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
180	From Borhat Tiniali to Dilli Ghat on Dhodar Ali	CHARAIDEO	REGULA R	150	OPEN PH	DC	35	35	1225	25	75	Draw of Lots	15	5
181	Kaliabor Tiniali to Jakhalabandha (Within 5KM from Kaliabor Tiniali on NH715)	NAGAON	REGULA R	178	ОВС	DC	35	35	1225	25	75	Draw of Lots	15	4
182	Chenimari(Within 2Km on either side of Langla Senior Madrasa along SH2)	BARPETA	REGULA R	155	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
183	KB Road (Within 1 km on either side of Angerkhowa Jame Masiid)	LAKHIMPUR	REGULA R	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
184	On Bilasipara Main Road (Within Town limits)	DHUBRI	REGULA R	160	OPEN	DC	17	17	527	25	45	Draw of Lots	15	5
185	Within 5KM of Jamugurihat Police Station on NH15 in Sonitpur District	SONITPUR	REGULA R	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
186	NH 15, Within 2km of Bedeti Post Office on NH15	BISWANATH	REGULA R	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
187	Jonai (Within 4 km of Jonai HS School towards Dhemaji Town) on NH515	DHEMAJI	REGULA R	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
188	LEFT HAND SIDE FROM MORAN TO DEMAW ON SEPON (WITHIN 3KM OF SATSANG KENDRA SEPON ALONG ON NH2)	CHARAIDEO	REGULA R	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
189	Within 10 KM of Raha Chariali on RHS Towards Guwahati on NH27	NAGAON	REGULA R	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
190	Tezpur Medical College to Tezpur Mission Chariali on NH15	SONITPUR	REGULA R	184	OPEN	СС	35	35	1225	25	10	Bidding	30	5
191	NH15(Within 5km from Gohpur Police Station towards Tezpur on LHS)	BISWANATH	REGULA R	155	OPEN CC 1	CC	35	45	1575	25	10	Bidding	30	5

r		1	1					1			T	1		
192	Dhemaji Station Road (Within 1 km of Dhemaji Post office	DHEMAJI	REGULA R	130	ST	CFS	17	17	527	0	0	Draw of Lots	0	3
193	towards Dhemaji Train Station) Within 5KM of Sootea Post Office on LHS towards Tezpur	BISWANATH	REGULA R	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
194	on NH15 UDALGURI TOWN(WITHIN 3 KM OF SBI KAHIBARI BRANCH	UDALGURI	REGULA R	170	OPEN	DC	17	17	527	25	45	Draw of Lots	15	5
195	ON UDALGURI-ROWTA ROAD) GARMUR CHARIALI TO	MAJULI	REGULA	114	OPEN	DC	17	17	527	25	45	Draw of	15	5
196	KAMALABARI CHARIALI Biswanath Chariali Bypass ON LHS Towards Dhemaji on NH15	BISWANATH	R REGULA R	150	OBC	DC	35	45	1575	25	75	Lots Draw of Lots	15	4
197	NORTH LAKHIMPUR BYPASS ON LHS TOWARDS DHEMAJI	LAKHIMPUR	REGULA	165	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
198	NORTH LAKHIMPUR TOWN ( ON LHS WITHIN 2KM OF MALPANI CHARIALI TOWARDS	LAKHIMPUR	REGULA R	160	OPEN	сс	17	17	527	25	10	Bidding	30	5
199	MAJULI ON KB ROAD) Baradi (Barpeta to Keotuchi Gaon LHS within 5km from Barpeta Town)	CHIRANG	REGULA R	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
200	NH15,WITHIN 5KM FROM MORIDHAL COLLEGE TOWARDS DHEMAJI	DHEMAJI	REGULA R	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
201	NH15 (Within 5km on either side of Orang police station towards Rowta) in Udalguri District	UDALGURI	REGULA R	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
202	Howly on NH27 (LHS within 12kms from Howly Flyover towards Guwahati)	BARPETA	REGULA R	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
203	LHS from Pathsala to Bhabanipur on NH27(NEW)	BARPETA	REGULA R	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
204	KHUTIKATIA (WITHIN 1 KM FROM LAKHINAGAR CHARIALI TOWARDS BEBEJIA)	NAGAON	REGULA R	150	OBC	СС	17	17	527	25	10	Bidding	30	4
205	Within 5KM of Tezpur Medical College Towards Dhekiajuli on NH15	SONITPUR	REGULA R	208	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
206	Serfanguri on new NH-27 (between km stone 40 and 45 LHS towards Srirampur)	CHIRANG	REGULA R	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
207	Patiapara on NH-17 between intersection of Darrangiri- Kharkuta Rd & Rangjuli- Simlitola Rd with NH17	GOALPARA	REGULA R	170	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
208	Bhabanipur on NH27(new) between 4km to 8km LHS from Bhabanipur Police Outpost towards Guwahati	BARPETA	REGULA R	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
209	Ghograpara on NH27 (LHS towards Bongaigaon within 3km of Tamulpur-Ghograpar Rd and NH intersection)	NALBARI	REGULA R	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
210	NORTH LAKHIMPUR TOWN (WITHIN 2KM OF DC OFFICE TOWARDS CIVIL HOSPITAL ON NAKARI ROAD)	LAKHIMPUR	REGULA R	155	ST	CFS	17	17	527	0	0	Draw of Lots	0	3
211	Rampur (LHS on Balapara Road within 4 kms from Doulashal Puron Chowk)	BARPETA	REGULA R	165	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
212	Chapar on new NH 17 (Between KM Stone 909 and 906 LHS from Bongaigaon to Dhubri)	DHUBRI	REGULA R	200	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
213	Between Banekuchi Chowk and Akhra chowk on new NH 27 (LHS from Guwahati towards West Bengal)	NALBARI	REGULA R	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
214	Chalantapara on new NH-17 (within 2 kms on iether side of Chalantapara Hospital)	BONGAIGAO N	REGULA R	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
215	LHS on Barpeta-Hospital-Jania Road within 5kms from Barpeta Medical College & Hospital towards Jania	BARPETA	REGULA R	170	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
216	Sorbhog on NH27(new) within kilometer stone 988 to 990 on LHS towards Guwahati	BARPETA	REGULA R	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
217	Patgaon on NH 27(new) RHS from Bongaigaon towards Srirampur	BARPETA	REGULA R	170	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
218	Abhayapuri FROM NH17 intersection TO DUMURIA MASJID	BONGAIGAO N	REGULA R	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
219	Dipta on new NH 27 (LHS towards Guwahati within 3 kms from ASRF Bn HQ)	NALBARI	REGULA R	250	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
220	Within 9kms from Petrol Pump HP Agomoni towards Gauripur on RHS ON NH17	DHUBRI	REGULA R	180	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5

221	Between 5kms to 10kms distance from BPCL Petrol Pump at Dudhnoi towards Krishnai on NH17 on RHS	GOALPARA	REGULA R	165	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
222	LHS from FOLIMARI KABARSTAN to LAKHIPUR COLLEGE on SH46	GOALPARA	REGULA R	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
223	Within 5KM of Sipajhar Police Station on NH15	DARRANG	REGULA R	191	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
224	Tihu town (not on NH/SH)	NALBARI	REGULA	115	OPEN	CC	17	17	527	25	10	Bidding	30	5
225	Bamuntari Bazaar to TND Bazaar	BARPETA	REGULA R	113	OPEN	CC	35	35	1225	25	10	Bidding	30	5
226	Sri Surjya Pahar to Sainik School on RHS TOWARDS SAINIK SCHOOL	GOALPARA	REGULA R	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
227	On Beltoli-Serfanguri Road (Between 3 to 5 kms from NH17 intersection)	DHUBRI	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
228	RIGHT HAND SIDE FROM KAKODUNGA BRIDGE TO KAZIRANGA UNIVERSITY ON NH715	JORHAT	REGULA R	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
229	Jorhat Town(Along Malow Ali Rd within Town limits)	JORHAT	REGULA R	160	OPEN CC 2	DC	17	17	527	25	45	Draw of Lots	15	5
230	Ambagaon on SH (WITHIN 3 KM FROM INTERSECTION OF UDALGURI-TAMULPUR ROAD AND SH)	UDALGURI	REGULA R	103	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
231	Solmara on Barpeta-Nalbari Road (within 2km from Solmara Police Station towards Sarthebari)	NALBARI	REGULA R	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
232	Tulungia on new NH-17 (within 4 kms of Tulungia Bazaar towards Jogighopa)	BONGAIGAO N	REGULA R	195	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
233	WITHIN 5KM FROM POLICE OUTPOST NAKACHARI TOWARDS MARIANI ALONG DHODAR ALI RD	JORHAT	REGULA R	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
234	On Nalbari-Hajo Road within 3 to 7 km from Deka Service Station, BPC RO	NALBARI	REGULA R	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
235	TINSUKIA TOWN (ON GELAPUKHURI ROAD WITHIN TOWN LIMITS NOT ON NH OR SH)	TINSUKIA	REGULA R	100	OPEN	СС	17	17	527	25	10	Bidding	30	5
236	Bordubi on SH24(within 3km from Tilinga Mandir towards Tinsukia)	TINSUKIA	REGULA R	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
237	Between Boitamari Model Hospital and Mahamaya Mandir Bahalpur along NH17	BONGAIGAO N	REGULA R	158	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
238	FURKATING TO MERAPANI RD. (WITHIN 4KM FROM GAJANAND JALAN GIRLS HIGH SCHOOL TOWARDS MERAPANI)	GOLAGHAT	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
239	From Kamargaon to Telihal along Dhodar Ali	GOLAGHAT	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
240	Sri Surjya Pahar to Sainik School on LHS TOWARDS SAINIK SCHOOL	GOALPARA	REGULA R	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
241	Nagaon Bypass (Within 10 KM from Intersection of SH18 and NH27 on LHS towards Jorhat on NH27)	NAGAON	REGULA R	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
242	ARENGAPARA TO TETELITOL	GOLAGHAT	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
243	FROM HOTEL AROMA RESIDENCY TO BORGURI KALI MANDIR ALONG RANGAGORA ROAD	TINSUKIA	REGULA R	100	OPEN CC 1	DC	17	17	527	25	45	Draw of Lots	15	5
244	North Guwahati Post Office to Phulung on SH2 (Upto Intersection of Dirgheswari Temple Road and SH2)	KAMRUP	REGULA R	140	ОВС	СС	35	35	1225	25	10	Bidding	30	4
245	Rangjuli on NH17 (towards Guwahati within 3kms of intersection of Rangjuli- Simlitola Rd with NH-17)	GOALPARA	REGULA R	195	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
246	FROM CINNAMORA POLICE STATION TO RAMDEV BABA MANDIR ALONG SH31	JORHAT	REGULA R	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
247	FROM MADHOPUR TINIALI TO JAYBEE AUTO AGENCIES PVT LTD (DULIAJAN)	DIBRUGARH	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
248	Dipila - Khoirabari - Bhergaon Road(SH11), Within 3 km of Railway intersection at Khoirabari	DARRANG	REGULA R	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
249	Naharkatia to Moran Road (Within 3kms from Naharkatia Town towards Moran)	DIBRUGARH	REGULA R	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

250	Barpeta-Howly Road on NH (LHS towards Barpeta within 5km from NH intersection)	BARPETA	REGULA R	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
251	Pabhoi on SH (Within 3KM from Pabhoi SBI CSP Pabhoi)	BISWANATH	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
252	FROM SILCHAR AIRPORT TO EAST-WEST CORRIDOR JUNCTION WITH KUMBHIRGRAM AIRPORT ROAD	CACHAR	REGULA R	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
253	From Nilbagan to Murajhar Post Office on SH 19 (Howraghat Road)	HOJAI	REGULA R	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
254	WITHIN 8KM FROM LAHOAL TOWARDS CHABUA ON NH37	DIBRUGARH	REGULA R	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
255	Bihpuria on Badati Ghat road,Within 2 km of junction of SH 43 & Badati Ghat road towards Badati Ghat	LAKHIMPUR	REGULA R	125	OBC PH	DC	17	17	527	25	45	Draw of Lots	15	4
256	Rangapani along SH2(RHS within 2km from PM High School towards Barpeta)	BONGAIGAO N	REGULA R	113	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
257	On Barpeta Nalbari Road (within 3 to 6 km from Nalbari Post Office towards Chamata on SH)	NALBARI	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
258	NANDESWAR TEMPLE TO SURYA PAHAR ON SH-46	GOALPARA	REGULA R	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
259	North Lakhimpur Bypass on RHS Towards Dhemaji	LAKHIMPUR	REGULA R	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
260	BHAKATGAON MORIGAON ROAD NEW ALIGNMENT(WITHIN 2 KM OF INTERSECTION OF SH3 AND	MORIGAON	REGULA R	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
261	SH3A TOWARDS MORIGAON) Within 2 km of Central Bank of India, Dhamdhama Branch on SH10 towards Barama	NALBARI	REGULA R	118	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
262	Between Mazumdar Bazar Bridge to Ranighat Motor Bridge on SH 38 (Kalain Road)	CACHAR	REGULA R	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
263	Kokrajhar Town (within 1 km from railway Overbridge towards Narabari LP School)	KOKRAJHAR	REGULA R	210	ST	CFS	17	17	527	0	0	Draw of Lots	0	3
264	KALAIGAON ON MB ROAD( WITHIN 3 KM OF GORUBANDHA HIGH SCHOOL IN DARRANG DISTRICT)	DARRANG	REGULA R	115	OPEN	сс	35	35	1225	25	10	Bidding	30	5
265	Tangla College Road (Within 2 km from intersection of SH4 with Tangla College Road Towards Purandia)	UDALGURI	REGULA R	110	OPEN	DC	17	17	527	25	45	Draw of Lots	15	5
266	WITHIN 2 KM FROM HARINKHOJA L. P. SCHOOL TOWARDS KARIM CHOWK on Mangaldai- Dipila Road (SH11)	DARRANG	REGULA R	182	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
267	Basistha Chariali to Basistha Temple on Basistha Road	KAMRUP METROPOLIT AN	REGULA R	150	OBC	СС	17	17	527	25	10	Bidding	30	4
268	On NH-27(new) between kilometer stone 982 and 985 LHS towards Bongaigaon	BARPETA	REGULA R	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
269	Chariduar (Within 3 KM from Chariduar Post office on Balipara-Bhalukpong Road)	SONITPUR	REGULA R	165	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
270	Within 2.5km from Hamren District Jail on SH18 towards Baithalangsho	WEST KARBI ANGLONG	REGULA R	100	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
271	TINSUKIA-MAKUM BYPASS(WITHIN 4KM ON RHS FROM INTERSECTION OF BYPASS AND RANGAGORA ROAD TOWARDS MAKUM	TINSUKIA	REGULA R	170	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
272	DHAKUAKHANA(WITHIN 1 KM FROM DHAKUAKHANA CHARIALI TOWARDS DHAKUAKHANA COLLEGE ON RHS)	LAKHIMPUR	REGULA R	155	sc	CFS	17	17	527	0	0	Draw of Lots	0	3
273	Within 2km of petrol pump M/S Ramaji Bhagat Petroleum Agency towards Baguan Police Station on SH-46	GOALPARA	REGULA R	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
274	Karimganj within Town Limits Rangirkhari to Silcoorie Market	KARIMGANJ	REGULA REGULA	100	OBC	CC	17	17	527	25	10	Bidding Draw of	30	4
275	on SH 39 (Hailakandi Road) JENGRAIMUKH (WITHIN 2 KM	CACHAR	R	120	OPEN	DC	35	35	1225	25	60	Lots	15	5
276	OF JENGRAIMUKH CHARIALI TOWARDS GARMUR)NOT ON NH	MAJULI	REGULA R	102	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
277	Simen Chapori on NH515,Within 10KM of Simen Chapori Police Station	DHEMAJI	REGULA R	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
278	Chapakhowa Town (NOT ON NH OR SH)	TINSUKIA	REGULA R	100	OBC CC 1	DC	17	17	527	25	45	Draw of Lots	15	4

							•				•			
279	From Assam Gramin Vikash Bank, Mayong to HPCL Petrol Pump M/s Jhargaon Service Station along SH3	MORIGAON	REGULA R	110	OPEN	СС	35	35	1225	25	10	Bidding	30	5
280	North Lakhimpur Town on BFCC Road (Between NH15 and Railway Intersection on BFCC ROAD)	LAKHIMPUR	REGULA R	160	OPEN PH	DC	17	17	527	25	45	Draw of Lots	15	5
281	On Fakiragram-Serfanguri Road LHS Between 9 to 12 kms from Serfanguri NH Junction	KOKRAJHAR	REGULA R	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
282	Lalabazar ( within Lala Town Committee)	HAILAKANDI	REGULA R	140	OBC	DC	17	17	527	25	45	Draw of Lots	15	4
283	WITHIN 1 KM FROM GOSAIDUBI BAZAAR ON SH46	GOALPARA	REGULA R	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
284	From Star Cement Factory to Kalangpar Bazar on SH3B towards Pobitora	KAMRUP METROPOLIT AN	REGULA R	105	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
285	WITHIN 2KM FROM 10th MILE POST TOWARDS MERAPANI ON SH34	GOLAGHAT	REGULA R	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
286	Lanka Town (Within Lanka Municipal Board Limits)	HOJAI	REGULA R	110	OPEN	DC	17	17	527	25	45	Draw of Lots	15	5
287	Rangia Town (within Municipal	KAMRUP	REGULA	105	OPEN	DC	17	17	527	25	45	Draw of	15	5
288	Board limits) Ganesh Mandir to Jyoti Chitrabon Film Studio on Kahilipara Main Road,LHS towards the Film Studio	KAMRUP METROPOLIT AN	R REGULA R	160	OPEN	DC	17	17	527	25	60	Lots Draw of Lots	15	5
289	Kalitakuchi (between Kalitakuchi Tiniali and India Oil petrol pump Hajo Town FC) on NH 427	KAMRUP	REGULA R	150	ОВС	DC	35	35	1225	25	75	Draw of Lots	15	4
290	Kampur-Baithalangso Road(SH)(Within 2 KM from Rajaali ME School towards Baithalangsho on RHS)	NAGAON	REGULA R	140	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
291	Jalukbari to LGBI Airport on NH 17 on either side	KAMRUP METROPOLIT AN	REGULA R	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
292	Anchali on NH 127A (RHS towards Bhutan from intersection of NH127A and NH27)	BARPETA	REGULA R	175	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
293	Within 10 km of Kathiatoli Chariali towards Nilbagan on NH27 in Hojai District	HOJAI	REGULA R	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
294	Near Bebejia on SH3 (Within 3KM of Sensua Railway Intersection towards Guwahati)	NAGAON	REGULA R	133	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
295	Between Mirza Chariali and Britannia industries on NH 17, LHS towards Britannia Industries.	KAMRUP	REGULA R	165	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
296	Lumding on NH 27 (Within 4 km of Junction of NH 27 and NH 329 towards Maibang)	HOJAI	REGULA R	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
297	Km Stone No. 1102 to Km Stone 1085 on NH 27 on RHS from Baihata Chariali in direction of Kamalpur	KAMRUP	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
298	Ganeshguri to Six Mile on G S Road on LHS towards Six mile	KAMRUP METROPOLIT AN	REGULA R	185	OPEN	DC	17	17	527	25	60	Draw of Lots	15	5
299	Rupahi-Ambagan Road(SH) (Within 2 KM from Sadaria Post Office Towards Nagaon Town ON LHS)	NAGAON	REGULA R	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
300	Fulertal to Lalpani on NH37	CACHAR	REGULA R	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
301	GNRC Six Mile to Assam Secretariat on GS Road on LHS towards Assam Secretariat	KAMRUP METROPOLIT AN	REGULA R	195	OPEN	DC	17	17	527	25	60	Draw of Lots	15	5
302	Bhalukaguri to Ahotguri on LHS towards Ahotguri on NH 27	MORIGAON	REGULA R	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
303	Ambagan on SH (Within 2 KM from Ambagan Police Outpost towards Nagaon Town)	NAGAON	REGULA R	133	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
304	Kharghuli P.O. to Guwahati Refinery Training Centre on Dr. Bhupen Hazarika Path/Guwahati Refinery Rd	KAMRUP METROPOLIT AN	REGULA R	190	OBC	DC	17	17	527	25	60	Draw of Lots	15	4
305	Bhalukaguri to Ahotguri on RHS towards Ahotguri on NH 27	MORIGAON	REGULA R	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
306	Kanishail on NH 8 (Between intersection of NH 8 and NH 37 and Nilambazar P.S. towards Nilambazar )	KARIMGANJ	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
307	Within 3 kms of Algapur Block Hospital on NH6 ( Hailakandi - Panchgram Road)	HAILAKANDI	REGULA R	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

308Dimakuchi on SH (Within 2 KM From Dimakuchi Police Station)UDALGURIREGULA R115STCFS353512250309Changsari to Dora Kahara on NH 27 LHSKAMRUP RREGULA R155OPENDC3545157525310Ganesh Mandir to Jyoti Chitrabon Film Studio on Kahilipara Main Road RHS towards the Film StudioKAMRUP METROPOLIT ANREGULA R150OPENDC171752725311Patharkandi Branch Office on NH8KARIMGANJ REREGULA R160OBCDC3545157525312Zoo - Narengi Tiniali to Panikhaiti on SH3 (Upto intersection of Panikhaiti Stn. Rd. and SH 3)KAMIRUP METROPOLIT ANREGULA R160OBCDC3545157525313Choriali on Hockey Stadium Road(Bishnu Rabha Path)on RHS towards stadiumKAMRUP METROPOLIT ANREGULA R150OPENCC171752725314Within 2 kms of Bhetapara (Charial on Hockey Stadium Road(Bishnu Rabha Path)on MH37KAMRUP METROPOLIT ANREGULA R150OPENCC171752725314INH 27., on LHS, within 10 kms from junction of NH27 and NH37CACHARREGULA R185OPENDC3545157525315Silchar Rd, Hailakandi: Shhapur RoadAACHARREGULA R105OBCDC1717 <th>0 75 60 75 0 10 75</th> <th>Draw of Lots Draw of Lots Draw of Lots Draw of Lots Draw of Lots Bidding</th> <th>0 15 15 15 0 30</th> <th>3 5 5 4 3</th>	0 75 60 75 0 10 75	Draw of Lots Draw of Lots Draw of Lots Draw of Lots Draw of Lots Bidding	0 15 15 15 0 30	3 5 5 4 3
309NH 27 LHSKANIRUPR133OPENDC3343137323310Ganesh Mandir to Jyoti Chitrabon Film Studio on Kahilipara Main Road RHS towards the Film StudioKAMRUP METROPOLIT ANREGULA R150OPENDC171752725311Patharkandi Branch Office on NH8KARIMGANJ RREGULA R160OBCDC3545157525312Zoo - Narengi Tiniali to Panikhatit on SH3 (Upto intersection of Panikhaiti Stn. Rd. and SH 3)KAMRUP METROPOLIT ANREGULA R140SCCFS353512250313Coo - Narengi Tiniali to Panikhaiti Stn. Rd. and SH 3)KAMRUP METROPOLIT ANREGULA R140SCCFS353512250314Within 2 kms of Bhetapara Chariali on Hockey Stadium From Silchar towards Lumding from junction of NH27 and NH37KAMRUP METROPOLIT ANREGULA R150OPENCC171752725314Hallakandi within municipality limits, Mission Rd, Cachari Rd, Silchar Rd, Hailakandi - ShahpurCACHAR RREGULA R185OPENDC171752725315Hailakandi within municipality limits, Mission Rd, Cachari Rd, Silchar Rd, Hailakandi - ShahpurHAILAKANDI RREGULA R105OBCDC171752725	60 75 0 10	Lots Draw of Lots Draw of Lots Draw of Lots Bidding	15 15 0	5 4 3
310Ganesh Mandir to Jyoti Chitrabon Film Studio on Kahlipara Main Road RHS towards the Film Studio 1000 RBKAMRUP RREGULA R150OPENDC171752725311Mithin 3 kms from SBI Patharkandi Branch Office on NH8KARIMGANJ RREGULA R160OBCDC355455157525312Zoo - Narengi Tiniali to Panikhaiti on SH3 (Upto intersection of Panikhaiti Stn. Rd. and SH3)KARINOP METROPOLIT ANREGULA 	75 0 10	Lots Draw of Lots Draw of Lots Bidding	15 0	4
311Patharkandi Branch Office on NH8KARIMGANJREGULA R160OBCDC3545157525312Zoo - Narengi Tiniali to Panikhaiti on SH3 (Upto intersection of Panikhaiti Stn. Rd. and SH 3)KAMRUP METROPOLIT ANREGULA R140SCCFS3545157525313Within 2 kms of Bhetapara Chariali on Hockey Stadium 	0 10	Lots Draw of Lots Bidding	0	3
312Panikhaiti on SH3 (Upto intersection of Panikhaiti Stn. Rd. and SH 3)REGULA METROPOLIT AN140SCCFS353512250313Within 2 kms of Bhetapara Chariali on Hockey Stadium Road(Bishnu Rabha Path)on RHS towards stadiumKAMRUP METROPOLIT ANREGULA 	10	Lots Bidding		
313Chariali on Hockey Stadium Road(Bishnu Rabha Path)on RHS towards stadiumKAMRUP METROPOLIT 			30	E
314(NH 27), on LHS, within 10 kms from junction of NH27 and NH37CACHARREGULA R185OPENDC3545157525315Hailakandi within municipality limits, Mission Rd, Cachari Rd, Silchar Rd, Hailakandi-ShahpurHAILAKANDIREGULA R105OBCDC171752725	75	Draw of		5
315limits, Mission Rd, Cachari Rd, Silchar Rd, Hailakandi- ShahpurHAILAKANDIREGULA R105OBCDC171752725		Lots	15	5
	45	Draw of Lots	15	4
On NH 15, towards Sipajhar, Within 3.5 Km of NH 15 (52KAMRUPREGULA R150OPENDC3535122525old) and SH 2 junctionOPEN <t< td=""><td>75</td><td>Draw of Lots</td><td>15</td><td>5</td></t<>	75	Draw of Lots	15	5
Bihpuria on SH (Between 317 Bihpuria Police Station and LAKHIMPUR R Chaudhapunia Tiniali) REGULA R 101 ST CFS 35 35 1225 0	0	Draw of Lots	0	3
318     Dibrugarh Town (From Chowkindingee Chariali to Railway crossing along Convoy Road)     DIBRUGARH     REGULA R     100     OBC     DC     17     17     527     25	45	Draw of Lots	15	4
On Dakhingaon Road (Between Intersection of Dakhingaon Rd. and Kahilipara Main rd. to Sawkuchi PO)KAMRUP METROPOLIT ANREGULA R150OPEN CC 1CC171752725	10	Bidding	30	5
Panchgram on NH6 (Between Prashante Tourist Lodge and Indian Oil Petrol Pump Dhaleswari FS)REGULA R150OPENDC3545157525	75	Draw of Lots	15	5
Nagaon Paper Mill to Nellie on 321REGULA LHS on NH 27 towards AhotguriREGULA 	0	Draw of Lots	0	3
322NAHARKATIYA (WITHIN 4KM OF NAHARKATIYA POLICE STATION TOWARDS DIBRUGARH ALONG SH26)REGULA 	60	Draw of Lots	15	4
From Junction of SH38 and     REGULA     NH37 near Ramnagar, towards     REGULA     DC     35     35     1225     25       along NH37     Along NH37 </td <td>75</td> <td>Draw of Lots</td> <td>15</td> <td>5</td>	75	Draw of Lots	15	5
Malua on NH 37 (Between       Mokhair Bhanga Bus Stand and       REGULA       DC       35       45       1575       25         Mighway FS)       Highway FS       High	75	Draw of Lots	15	5
325     FROM PASCHIM MORIGAON     REGULA     REGULA     SRI KRISHNA MANDIR TO     MORIGAON     REGULA     158     SC     CFS     35     35     1225     0       TOWARDS DOLBARI TINIALI     TOWARDS DOLBARI TINIALI     TOWARDS DOLBARI TINIALI     TOWARDS     REGULA     R     158     SC     CFS     35     35     1225     0	0	Draw of Lots	0	3
326     MORAN TOWN (NOT ON NH OR SH, WITHIN TOWN     DIBRUGARH     REGULA R     100     OBC     DC     17     17     527     25	45	Draw of Lots	15	4
327Kabuganj Bazar to Bhaga Bazar Post Office on NH 306CACHARREGULA R155OPENDC3535122525	75	Draw of Lots	15	5
Between Gauripur Satsang Vihar     DHUBRI     REGULA     105     OPEN CC 2     DC     17     17     527     25	45	Draw of Lots	15	5
Tezpur Town on NT road     REGULA     OBC CC 1     DC     17     17     527     25       Vishal Mega Mart on NT Road)     Vishal Mega Mart on NT Road     Vishal Me	45	Draw of Lots	15	4
Kaziranga to Jakhalabandha on NH715 (Within 5KM of Bonroja Motel towardsNAGAONREGULA R222ST CC 1CFS353512250	0	Draw of Lots	0	3
Banskandi on NH 37 (Between 331 Madhurapul Point to Sub Post CACHAR Office Banskandi) CACHAR R 150 OPEN DC 35 35 1225 25	75	Draw of Lots	15	5
From Mile Stone 1100, on LHS     REGULA       332     towards Ghograpar on NH 27       in Kamrup District         SU17 (Mithin Shore form)         Regula         160           DC       35	75	Draw of Lots	15	5
333     SH17 (Within 5km from intersection of SH17 with NH127 near Amoni towards Chapanalla)     NAGAON     REGULA R     113     OBC     DC     35     35     1225     25	60	Draw of Lots	15	4
Khetri to Topatoli near Jagiroad     KAMRUP       334     via NH27 on LHS within     METROPOLIT       Kamrup (Metro) District     AN	0	Draw of Lots	0	3
Within 1 km of HotelKAMRUPREGULAREGULA150OPENCC171752725	10	Bidding	30	5
Road/New Airport Road         AN         K         Image: Constraint of the second se	10	Bidding	30	5

					1 1				1		1	1		1
337	NAGAON TOWN (On Gopinath Bordoloi Road, Within 1 km from Interesection of AT Road towards Aminpatty)	NAGAON	REGULA R	230	OBC	DC	17	17	527	25	45	Draw of Lots	15	4
338	From Khanapara to Jorabat Tiniali on LHS towards Jorabat on NH27	KAMRUP METROPOLIT AN	REGULA R	205	OPEN	CC	20	20	400	25	10	Bidding	30	5
339	Within 2 km of Calcom Cement (Dalmia) plant on Lanka Umrangsho Rd. on NH 627 (Old SH 20)	DIMA HASAO	REGULA R	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
340	Between Nilbagan Flyover and Tiniali Bazar Anchalik Jame Masjid on NH27 on LHS towards Lumding	HOJAI	REGULA R	180	OPEN	CC	35	45	1575	25	10	Bidding	30	5
341	Dudhnoi Chariali to Kathakuthi on new NH-17 (LHS from Guwahati towards Bongaigaon)	GOALPARA	REGULA R	175	ОВС	DC	35	35	1225	25	75	Draw of Lots	15	4
342	Within 6 kms from Intersection of NH515 and NH15 towards Pasighat on NH515	DHEMAJI	REGULA R	150	OPEN CC 1	СС	35	35	1225	25	10	Bidding	30	5
343	KAMPUR (WITHIN 1 KM FROM KOPILI RIVER BRIDGE TOWARDS KAMPUR TOWN)	NAGAON	REGULA R	160	SC	CFS	17	17	527	0	0	Draw of Lots	0	3
344	Within 2kms on either side of Nayapara Masjid on SH-46	GOALPARA	REGULA R	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
345	Between Nilbagan Flyover and Tiniali Bazar Anchalik Jame Masjid on NH27 on RHS towards Lumding	IALOH	REGULA R	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
346	Within 4kms of Mushalpur CHC on SH-6/SH-10A	BASKA	REGULA R	175	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
347	Between Kumarikata and Nayabasti on SH-6	BASKA	REGULA	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
348	From Khetri to Jorabat Tiniali on LHS towards Jorabat on NH27	KAMRUP METROPOLIT AN	REGULA R	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
349	Bijni Town (on Bijni-Kuklong Road)	CHIRANG	REGULA R	115	OPEN	DC	17	17	527	25	45	Draw of Lots	15	5
350	UDALGURI-TAMULPUR ROAD(SH10) (Within 2Kms of Sukhlai River Bridge towards Dimakuchi)	UDALGURI	REGULA R	105	OPEN	СС	35	35	1225	25	10	Bidding	30	5
351	DIBRUGARH TOWN (FROM CIRCUIT HOUSE TO ASSAM MEDICAL COLLEGE ALONG ASSAM MEDICAL COLLEGE ROAD)	DIBRUGARH	REGULA R	140	OBC	DC	17	17	527	25	45	Draw of Lots	15	4
352 NOTES	Irongmara to Dwarbond Post Office on SH 39 (Hailakandi Road)	CACHAR	REGULA R	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make \*\* For all locations showing Minimum Dimension - Frontage -17 M and Depth -17 M , any one dimension i.e frontage or depth must be minimum 31 M to comply local bye laws.

\*\*For all Rural "Type of RO" the Dimension mentioned in frontage and depth are interchangeable.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Applicat ion fee in Rs.
Regular ROs	CFS	SC/ST	3000		CFS	SC/ST	2500
	СС	OBC	5000	Rural ROs	CC	OBC	4000
	СС	Open	10000	Kurar KO3	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of <u>15</u> years and renewable every <u>5</u> years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-**Bharat Petroleum Corporation Limited** Guwahati Retail Territory Office, 1st Floor, Nexia Park, GMCH Road, Christian Basti, Guwahati Kamrup Metropolitan District- 781005. Helpline - 7642927167